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5,000,000& 504 A 25,000
— WEOIstd X, SsY X, WHYE R
5,000,000& 34 A~ 15,000
— Lo, YUY R 5,000,000& *2JH 2 10,000
— QOFQF(AtW) 10,000,000 *1JH A 10,000
— HS(PHAON K, 2B 5,000,000 %204 & 10,000
— HEH(2M,FU) 5,000,000 *2JH & 10,000
— SX(AF HE1FR) 5,000,000 %204 &~ 10,000
— BM(HS, &) 5,000,000 *2JH & 10,000
— Sl&(tHel, =&, AKX 15,000,000 15,000
402 SI2vXHE0| & 70,000 60,000 10,000
01 QIZEXIE2AIE 2 X 70,000 60,000 10,000
O 246 My FZYE M= 70,000,000 100 £ 70,000
ARG M2 A BHRI (& HI) 21,600 21,600 0
o= 3,960
= 17,640
307 2I2t0| ™ 21,600 21,600 0
& 3,960
= 17,640
02 IZHB AAIE E X 21,600 21,600 0
O B2Y A2l A Ay
1,800,000& x12& 21,600
o=t 3,960
= 17,640
A2 MY 22 A X 6,978 7,620 A\ B42
201 et d| 1,200 1,200 0
01 AP 2t 2] H| 1,200 1,200 0
O &g 22 AIRE3 22 100,000& 128 1,200
307 2Iz2t0| & 5,778 6,420 AN 642
02 QIZFAE AAIE E X 5,778 6,420 AN 642
O Zd2Y dg22Al T2 F8 24|
180,000& »12& 2,160
O ZEd2Y dg22A 40282
189,000& »12& 2,268
O =y HgBeA dENYS
112,500& x12& 1,350
AR2AY Q23 AT KA (EH|) 126,900 126,900 0
o 31,725
= 95,175
307 212t0| & 126,900 126,900 0
o= 31,725
= 95,175
11 A EXAIEEX 126,900 126,900 0
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COIMEAL 22 XA (<) 1,720,919 717,715 3,204
< 1,272,711
i 448,208
301 et a s 1,720,919 717,715 3,204
< 1,272,711
[ 448,208
01 MEIBEE 263 1,720,919 717,715 3,204
O LoMEAM 2HH XA (HES)
430,229,750 x4= | 1,720,919
< 1,272,711
[ia 448,208
WOt olAlE 2gHl K& (=) 1,306,548 210,118 96,430
< 261,310
i 1,045,238
301 et a = 1,306,548 210,118 96,430
< 261,310
e 1,045,238
01 MEIBEE 2063 1,306,548 210,118 96,430
O MU =RAE 2LHI(HES)
326,637,000& 4= | 1,306,548
< 261,310
[ia 1,045,238
ol 22d 27,996 31,718 N3,722
101 124 dl 13,416 12,519 897
4 DIt Z2XREES 13,416 12,519 897
O Jl=z=s 43,000 *1H 260 11,180
O =54 43,0003 «1H «522 2,236
201 ¢4l 14,580 14,580 0
01 At 2t 2l 2,000 2,000 0
O kel=RXsl2 29| 1,000, 000& 23] 2,000
02 232gHl 12,580 12,580 0
O Lo=kgzd 22323 1,320,000& x4 3] 5,280
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O Lo =Xz2 AI8Fd KA
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307 gl2tol & 46,200 27,400 18,800
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FEzosNa AE 901,000 0 901,000
202 odl 1,000 0 1,000
01 = LH Yl 1,000 0 1,000
O A& & T2 HX 02
100,000& 5% »23] 1,000
401 AIEBIZ 28I 900,000 0 900,000
01 A& HI 894,330 0 894,330
O BEZLosX2 A A (2,631m)
894,330,000 * 10 2 894,330
03 Al 20 HI 5,670 0 5,670
O Fs2o=2Xa HEAY 20l
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ColdRtel#E & L3NS SHoAY X 3,930 0 3,930
307 21201 A 3,930 0 3,930
11T M3 SXAISEEX 3,930 0 3,930
O LogieldEsE X 1,965,000 * 104 A& 1,965
O LeolslXlial SetAtey XI&
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LosslleMdulAA (=) 467,082 409,354 57,728
= 326,958
< 70,062
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O LossIEAMdbIAMg AIREE &=
ZHl 7 # 744
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< 112
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01 et EFFHSHI 2,000 0 2,000
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= 1,000
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04 QIZFHALAIH B = 3,600 4,000 A 400
O Lelsl &bl =elHolE=2Ua X&
1,800, 000& 23| 3,600
Al H=E ZIIUs K& 2,700 3,000 A 300
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Sl OMAASH CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
O &Y XNEXN s 249
80,000 x50 4,000
O {asu M 3,000& 1008 300
301 et A= 6,400 6,400 0
09 HAIAHI BAZ 6,400 6,400 0
O A XNE X SHAERA O]
35,0003 * 23 = 20H 1,400
O HdHX &= AH X& 5,000,000& 5,000
307 2Iz2to| & 13,000 13,000 0
03 QIZE X EHESIHIEX 13,000 0 13,000
O ZEZ HMOHEE 29 N
13,000, 000& 13,000
Hea=2X2H =N 10,000 11,000 A 1,000
301 et A= 1,000 1,000 0
09 HAIAHI EAZ 1,000 1,000 0
O HEEXSH 2 A A0
1,000,000 1,000
307 212t0| & 9,000 10,000 A 1,000
04 SIZ2HSHAAISHE E & 9,000 10,000 A 1,000
O &3 stotsS M= A 9,000,000& 9,000
& F=2F AR 3,500 3,500 0
201 Bt 4d9H]| 3,500 3,500 0
03 A2 I 3,500 3,500 0
O & & =238 2= 1,000,000 * 14! 1,000
O dA=E 500,0008 = 2H4 1,000
O MEH| 300,000 * 5= 1,500
CI2IIEXNRHEH 29K (012) 258,747 259,000 A 253
J| 181,122
& 38,814
= 38,811
307 2izto| & 258,747 259,000 A 253
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& 38,814
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s 5,985
301 et d = 11,970 11,970 0
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01 MEI2EZE 05z 11,970 11,970 0
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15,1133 = 660t » 123 11,970
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< 1,000
s 4,000
307 gl2tol & 5,000 5,000 0
< 1,000
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< 1,000
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stz 29 6,000 6,000 0
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54,412

373,

898

A11,150

310,041,000&

A

OlOIS=20l XEAY(22Hl) 52,707,000

RUR Y

362,748

310,041
217,029
46,506
46,506
52,707
36,895
7,906
7,906

373,

898

A11,150

o
s
i
o

22 UEXAAMG(2H)

HH W

1,909
1,527
191
191

.909

Mo R

1,909
1,527
191
191

.909

954,500& »2H

Mo H

1,909

1,909
1,527
191
191

,909

w=H XA (=)

EURE

14,796

7,398
7,398

,258

4,538

UL

14,796
7,398
7,398

,258

4,538
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AN =S
M BEFNEXNE
Eel: MASI2RNUHE XJA WA S (&)
SA - BB B () - MM - BES Ol &t o San HmEET
01 MEIBEE 263 14,796 10,258 4,538
O 822l DsstM sty X2
123,300& 30X »43| 14,796
< 7,398
[ 7,398
Heas (==X 953,589 820, 760 132,829
HEAHHK = 953,589 820, 760 132,829
LHEHH X = 953,589 820, 760 132,829
701 JIEtel HSHES 953,589 820, 760 132,829
01 JIEtel HE == 953,589 820, 760 132,829
O ASSHELEINH HES 953,589, 000& 953,589
HH2IZH(FU=XD) 137,970 129,066 8,904
Jl2Zl 137,970 129,066 8,904
Jl234I/=2X 01 & 43,592 43,592 0
201 £B-2d| 26,892 26,892 0
01 At 22l 21,492 21,492 0
O e+l 17,292,000 17,292
O =&l 7,0003 x5 «10L 122 4,200
02 =224l 5,400 5,400 0
O 2323 % HMA 450,000 x12& 5,400
202 odl 12,000 12,000 0
01 = LH o4 1l 12,000 12,000 0
O =XJ18 gRF& ol
5% +102 128 »20,000& 12,000
203 R =&l 4,200 4,200 0
04 FN2ELSZ=TH| 4,200 4,200 0
O BA2g YR 350,000& »12& 4,200
405 TtHabH S| 500 500 0
01 XML = ZFH SH| 500 500 0
O 2M AR08 837 500,000 500
23 /g2 a 9,314 9,314 0
201 £B-2dH| 4,314 4,314 0
01 At 22/l 4,170 4,170 0
O ger==&Hl 1,650, 000& 1,650
O =&l 2,520,000 2,520
02 =294l 144 144 0
O 22323 % HMA 144,000 144
202 oddl 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
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AN =S
HE: HY2IFH (FUSN D)
& 123l (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O gRF& ol 5,000,000 5,000
JI2dHI/S XXM 32,824 29,120 3,704
201 Let24d] 18,824 17,120 1,704
01 At 22l 9,800 8,960 840
O Let=&H| 3,500,000 3,500
O S&l 7,000 «7H«10 « 12 5,880
O HERMHIHAE 29
70,000 x3H »23] 420
02 2324l 9,024 8,160 864
O EXNZAN I 83U 2 SXHI(XSIHA,
BE=) 6,000,000 6,000
O REQI(EXN=0H ZHSNA UsseLs)
600 420 1204 2 3,024
202 044l 14,000 12,000 2,000
01 = LH o4 1l 14,000 12,000 2,000
O =2XS0H HaX XA 04l
20,0003 x7H =100 14,000
Jl23dl/3 Y =X 15,920 15,920 0
201 L4l 7,920 7,920 0
01 At 22l 7,920 7,920 0
O ger==&Hl 2,880,000 2,880
O =&l 5,040,000& 5,040
202 O4dl 8,000 8,000 0
01 = LH 4 Hi 8,000 8,000 0
O g0t 8,000,000 8,000
23t/ ==X 15,120 13,120 2,000
201 L2l 7,120 7,120 0
01 At 22l 7,120 7,120 0
O Let==EH| 200,000& 128 2,400
O =&l 300,000& =128 3,600
O kol 23 293 ¢ 70,000 x2H »83] 1,120
202 (4l 8,000 6,000 2,000
01 SLHOYI 8,000 6,000 2,000
O gRF&0H 8,000,000& 8,000
JI2ZHI/HEIt=E 11,200 18,000 A 6,800
201 £B-2%H| 7,200 10,000 A 2,800
01 At 22l 7,200 10,000 A 2,800
O get==&Hl 300,000& 1201 & 3,600
O =gl 75,0003 4B« 12 3,600
202 (4l 4,000 8,000 A 4,000
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AN =S
HE: HY2IFH (FUSN D)
chelr D123l (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 = LH o4 1l 4,000 8,000 A 4,000
O WA 20,0003 x2H 100 4,000
Jl2ddl/ots =X 10,000 0 10,000
201 Let24d]| 6,000 0 6,000
01 At 2teltl 6,000 0 6,000
O e+t 200,000& 128 2,400
O S&l 72,0003 *5H x10 3,600
202 oddl 4,000 0 4,000
01 = LH 4 1l 4,000 0 4,000
O gRF&N 800,000& 5H 4,000
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